PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2013
College of Arts and Sciences
Section 1 Quiz 3 28 February 2013

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

A uniform electric field of magnitude 100 V/m is directed in the positive x-direction.
(+2C )charge moves from origin to the point (x,y) = (3m, 4m).

a) What is the change in the potential energy of this charge?

b) Through what potential difference did the charge move? (k = 9 x 10° N.m?/C?)
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In an electrical potential field given by Vix,y) = 50xy — 10x, calculate the electrostatic force
that would act on a charge of q = +2C at location (x,y) = (Im,2m;.
(k=9x 10° N.m?/C?)

ZMJ
E(4,2) - (- 304 - 504) 4 /
lf:)UZ ’”[ Efd/ﬂlf_ 4807 - /ffOOji‘f\/

iy (3\/4 v A): ,(§Oj—4a)5{ - 50xf



PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2013
College of Arts and Sciences
Section 3 Quiz 3 28 February 2013

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Four equal negative charges g = -2C, are positioned on the corners of a square with side a =
1m. Find the potential at the center of the square, assuming that the potential is zero at infinity.
(k=9 x 10° N.m2/C?) 94( :
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Two concentric spherical shells with radii R and 2R are uniformly charged with Q and —Q .
respectively. Find the electric potential at a distance 3R/2 from the center.
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Point charges 2Q and —Q are located at positions (0,0,0) and (1,0,0) respectively. Find two
points (x4,0,0) and (x,,0,0) on the x-axis where the electric potential is zero.

Ve L (bt gt i)
=

@m; V:lg,(;@—-ﬂL e28 =0

0 )('L 4 %y = X
iy AT WL X % A !
s :—'& ; ) Die = Xg = [
920 % gw‘{% = UL SR s@w
¥, X
fo i il TT VE DT L
‘5[“%"@( be. clwer fo C?’z:'@\ — 4—%1 -
b qﬁﬁ.&, 2P _ R o 1= =) %
/Z: {~xe e




PHYS 102: General Physics 2 KOC UNIVERSITY Spring Semester 2013
College of Arts and Sciences
Section 6 Quiz 3 28 February 2013

Closed book. No calculators are to be used for this quiz.
Quiz duration: 10 minutes

Name: Student ID: Signature:

Two conducting spheres with radii ryand r, are separated by a distance much greater than
both ryand 7. The spheres are connected by a conducting wire as in the figure. If the charges
on the spheres in equilibrium are g, and g, respectively,

1.} Find the ratio of the electric fields (E;/E>) at the surfaces of the spheres
i.) Which one is greater?
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